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4 |4|4|4|4|4|44|4|4
4 |4|4|4|4|4|4]4|4|4
4 |4|3|4|4|4]|4|3|4|4
4 |4|4|4|3|4|4|4|4|4
4 |4|4|4|4|4]|4]4|4]4

40

40
34
37
40

48



10
11
12
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17
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20
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23
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4 |4|44|4 4|44|4 4
4 |4/4\4\3/4/3|3/44

4 4444 4|44|4 4
414|344 444|444

4 141414,/4/4|3 4/4|4

4 |4|4|4|4|4]4]4|4]4
4 4|4|3|4|4|4|4|4|4
4 |4|4|4|4|4]44|4|4
4 444444444
4 |4|4|4|4|4|4|4|4|4
4 |4|4|4|4|4|4]4|4|4
4 |4|4|4|4|4|4]4|4]4
4 4|3|4|4|4|4|4|4|4
4 |4|4|4|3|4]|4|2|4|4
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26
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30| 30

30| 30

4 14/4/4/4/3/4/4|4|4

4 |4|44|4 4|44|4 4
4 1443|4443 |4 4
414|344 4|44|4 4

4 141414 4/4|4 3/4|4

4 14,4/4/4/4/4/4|4|4
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100| 30| 30
100| 30| 30

(6):

)

(
% N F
80| 30| 24
16.6 5
3.3 1
99.9| 30| 30
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93.3

6.6

30

99.9

30
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96.6
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30

99.9

30
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% N F

90| 30| 27

10 3

100| 30| 30

(10)

% N F

86.6| 30| 26

13.3 4

99.9| 30, 30
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(11)

%

83.3

16.6

30

99.9

30

30

(12)

%

100

30

30

100

30

30
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(13)

% | N | F
100 30| 30
_ - 10
100 30| 30
(14)
_ _ | 100] 1
_ _ I 100] 2
_ 33| 16.6 80| 3
_ | 66 933 4
_ | 33/ 96| 5
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- - 10 90| 6
- -1 13.3 86.6| 7
- -| 16.6 833 8
- - - 100 9
- - - 100 10
- 3.3| 66.4| 929.8

- 0.33| 6.64| 92.98

(mean)

% 92.98

% 76 - % 100 % 92.98
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(Paired “t” test)
S

ySPSS

« “data view”
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1 )

210] - SPSS Statistics Date Editor ., - Alewid | S

Fle Edt Yiew Data Iransform Analyze Graghs Ulties Add-ons  Window  Hslp

CHA E o0 BEk A Hs D00 Beo% ¥

|2s  Sesudah \ |V|s|h\e. 2 0f 2 Yariahles
Sebelum | Sesudm var ‘ var ‘ var | var | war var war var ‘ var ‘ var

B.O0 FAERNE}
10 70.00 80.00
il 80.00 90.00
12 50.00 §0.00
13 70.00 80.00
14 70.00 80.00
5 50.00 70000
16 80.00 80.00
17 60.00 7000
18 60.00 70000
) 70.00 70.00
20 70.00 80.00
2 70.00 80.00
22 70.00 70.00
23 70.00 80.00
24 70.00 80.00
e 50.00 70000

9:57
21/06/2012

“Data View”

Analyze — Compare Means — Paired Samples T test . 2
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“Paired Samples T test “ (2 )
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Paired

yPaired-T test ( ) 3

OK = continue, Variables

G )

-
@ Paired-Samples T Test

= aw

Fa=

Paired Yariables: Ontians...
& Sebeum Pair | ‘ariablel | ‘arisble
& Sesudah 1 & [Sehelum] ¢ [Sesudah]
2
Bl
]
L& |

[ o J[ eose [ moeet [ comce J[_rep ]

“Paired Variable”

(+ )

i E Paired-Samples T Test: Options I, Z2 .r

Confidence Interval: ' 2

Missing Yalues

(&) Exclude cases analysis by analysis

() Exclude cases listwise

[ Continue I[ Cancel ][ Helg ]

“Paired Sample T test: Option “
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(17)

Paired Samples Statistics

Mean N Std. Deviation | Std. Error Mean
Pair 1 sebelum 66.6667 30 8.44182 1.54126
sesudah 79.0000 30 6.61764 1.20821

(18)

Paired Samples Correlations

N Correlation Sig.

Pair 1 sebelum & sesudah 30

.679 .000

. SPSS

. (Ho) o
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Paired Samples Statistics

66.6667 — -
79.0000 — -
8.44182 — -
6.61764 — -
1.54126— Standart Error =

1.20821 = Standart Error =

Paired Samples Correlations

. (0.679)
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(19)

3

Paired Samples Test

Paired Differences

95% Confidence

Interval of the

Difference
Std.  |Std. Error Sig. (2-
Mean [Deviation| Mean Lower Upper t df tailed)
Pair 1 sebelum - sesudah -12.33333| 6.26062| 1.14303 -14.67109] -9.99558(-10.790 29 .000
-Paired Samples Test o
10.790= (T test) t -
2,042 = t table -
0,000 — Sig. (2-tailed) =
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t table (T test) t

(Ho) ,(10.790>2.402)
0,05 Sig. (2-tailed) . (Ha)
(Ho) , (o,oo<o,05)

(1a)
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